T E X

$=1:250

s

S
" XL ViR ZIERE i %
FB.1 1000000 1000.000 100,000 P AE
FB.2 997. 668 978. 111 99. 077 (P K
IB.3 984,277 960. 706 95. 153 (K
FB.1 983 435 92.013
KB 1 952. 50 960537 91,216 A

oIS Y
‘ KT RIm ‘
RIZL sl = - LuEEs
T F B | 3050200) A 0 E A BT (GESE
BReS | BN (B8

IHEHR | SFHILURETE TSR REE O T10mo 0

HE4|F @ R

& R 1:250 ‘ HEES

1/ 6

2H#H &

EXEL | RBRANKERRRRIBEFB<=HTE>



105. 000

WIS L=13.0n  F Y]
]

EP (No. 0+13.0)

No. 0+10. 10

No.0+14. 4

ERAREOFES

94.850

95.060
95. 300

94.850 H

95.060
95. 300 H

90. 149 H

90.397 H
90. 448 H

94.840 H

94.392 H
95. 263

0.000 H

6.000 H
13.000 H

0.000 H

6.000 H
7.000 H

(0+13.00)

EP

ESEari

IFE 4

RIZL BIBN = - WHET
(H305¢29) 5A1 1| ¢ 18 1B T (BB )

BREHF

BmsNn (8

IEEmR

=M LHETEF LR EE SO T10mo L

HE 4

fit w H

R

V=1:100 =
H=1:250 ‘ REES




A2 2 7 1 (X

§=1:50

NO. 0+6. 00 {3k

Xmaryy—+
gck=18N/mm2

KiRENA TN\
VP @ 75 ¢

EEERS

E®av o yY—1+/

ock=18N/mm2

DL=90. 000

| EHERHET |

IFE 4

RIZL BIBN = - WHET
(H305¢29) 5A1 1| ¢ 18 1B T (BB )

BREHF

BmsNn (8

IEEmR

=M LHETEF LR EE SO T10mo L

HE 4

BENRAR

R

1:50 ‘ HEES

BEERANKEARBRLIERB<ZFTE>



NO. 0

GH=94. 840

FH=94. 850
% # £ B
Al B I |W<2.5m -
i
T8 0.4
tlm o =

T =l -
T® 12.0 4.3 E: (kB EH) B (EW)

= -

W< om

# R

H H =

EEEE| t#

IvH Y — FEREL
AHEEL -

HEER

BEEEER 4.5

2
1. 0m=4.0n 7
1
2

V94, 850 __ _oDHW-ga850
EP (0+13. 00) 5w E A
- | £ [W<2.5m -
Ay 300 n R 1.7
tlE OE
T =l -
T® 7.9 4.1 E:O(EB.EHD B (EB)
173 1’ —
R 1E = -
=T s i - - W<1.om 3.0
T 1.0n=4. On 4.1
EEEFE| =8 1.2
aVvyy—FREL 2.71
ARIUEL 0.7
EEER
B EEER 0.6
DL=85. 000
V96. 000
8 Vv95. 300 DHWL=95.300
—— /
————HE (a8 =1
— ——uwE (e 3 -
T e
/ Vv89.300
NO. 0+6. 00 B E R
_— IR | W<2.5m -
6H=94. 392 n
C b
FH=95. 060 +| g ul j:j, 0.2
I & -
T® 9.8 4.5 E: (kB EH) B (EB) DL=85. 000
K ®—
1% £ -
f ® - W<1.om 2.8
T 1. 0m=4. Om) 6.2
E@mEE| £ 1.2
avy)— FBREKL 2.98
ARIEL -
EEER
B EEER

v95.060

ESEari

RIZL BIBN = - WHET
(H305¢29) 5A1 1| ¢ 18 1B T (BB )

IFE 4

/ Vv89. 060

BREE | BIBN (ER)

IHEHR | SFHILURETE TSR REE O T10mo 0

HmE4|#® & X

& R 1:100 ‘IZIEE% 4/ 6

DL=85. 000
2H#H &

EXEL | RBRANKERRRRIBEFB<=HTE>




B R TEHE

25—k T8y SR ERT50) 2v9Y—bI0y Y EHE 4 1 (#) BB

S=1:50
H=1:250

il m@

WIRES L=13.0n T Yt
LFT- 974
2 BE ) L=3. 1y

Etharoy— b L=12.Tn AOET
=0] 3
®J0y o R L=12.Tn g 2000 20

0

NO. 0+10. 1
NO. 0+13.0
NO. 0+13. 2

RiHaryy—+
o ck=18N/mm2 o
V95. 060

2

V94.850

—

NO.0+12.7 jeo
NO. 0+14. 4

V95. 300

it E AR

A el WAL
K 75¢m

6. 15m Y

6. 15m

=6._15m

R HH 5 okt \g

6. 00m, SL:
6. 00m, SL

ikt 165 ))

KikZE /4 T
$=1:50

VP75

6. 00m, _SL:

H=
H=
H:

avy)—+F
v89. 060 0 ck=18N/mm2

Vv 88. 850

\E#garoy—+ T s Vv89. 300

o ck=18N/mm2

) RAMICOVTIER, EBMREGHBEEAL. +2IS@EHETI &,
HEiga o )—k L=12.7m 3
0

S=1:20

Rimaro)—+
o ck=18N/mm2
avoy—rJoviH

45 D16
ctoc500(L=300

\

HEpEaroU—+h
o ck=18N/mm2

ESEari

EWaL oy b 10, on y E®avoU—t 10. oy
7 i#
TE & RIZx BsN = - WEfET
(H305:£29) 71)11 $¢ 3 41 1B T3 (B 1)

& # i #® £
> ock=18N/mm * .
BReE | BIsN (R

avs -+ | ock=18N/mm* 5.

B # /N B A i 10 /N B 4 i

SD345 D16
THEFR | SFHILEITET LR EMEE O T100m0 0

B # # EHHE t=10mm 0
HmE4 |

R B= ‘ HEES




NO. 0

GH=94. 840
FH=94. 850

% £ E B |
A £ [W<25m -
n
+ 5 0.4
Tlm M
I k= -
T8 12.0 4.3
KR
* = -
%
Tl = W<1.0m 2.8
T 1. 0n=4. Onf 7.1
HEEEE| 8 1.2 |[F—
E avoy—FREL| 294 1
b: 3 AR L - |
A EEEN
T BtEEER
|

V94,850

EP (0+13. 00) & 7 £ B |
—_— Al k[W<25n] - |
Picos 500 i Tw | 17
+ Bl =
T = -
F) 7.9 47
K 8
R 1 E=1 -
iy A f - = W<t on 3.0
88. 850 T 1. 0m=4. On| 4.1
V.
e EBEE| t® 1.2 |—o
IYOU—FREL] 277 1
E%;IE AREEEL 0.7 |—mH
E EEER
%= BTEEER 0.6
R
DL=85. 000 T
v96. 000 \
s v95. 300 DHW=95.300
°
S A
©
— — —E (AR LWL ce
— T (RAE) A
‘/
Y v89. 300
1.2
NO. 0+6. 00 R E B EmuE
—_— | m =+ [Ww<2 5m _ ‘
As o6 ! " u j:ji‘ 0.2
I E=} -
+ 5 9.8 4.5 DL=85. 000
K b -
1% =] -
f ® - W<1.om 2.8
T 1. 0n=4. On| 6.2
AEEE| t® 1.2 |——
SV U—FEREL| 2.98 1
AREUEL - .
EEER
BEIEEER 3.7
v95. 060
°
S
=
(==Ll =1 N pry
oL ‘ AT RImE ‘
/4 RIS+ BRISN = - ILEET
/ T % B | (1305:20) 7)1 S B 4818 T3 (BGESHE)
N L v89. 060
y ©2. S0 BR2%E | EISsN ()
1.2 IHEHR | SEmIUEITEF LR EES O T10mo 80
HEEE
HE 4| tIHER
® R 1:100 ‘ HEES 6/6
DL=85. 000
2B

ERXEL | RBRANMKERRBRIERMB<=HTE>




T & X g

$=1:250

=

REEHK BEERYIFLUEHB00 L=50m

fRE%E B (W=4. 00m) L=37.0m

13.0m

i=Level
L=13.0m

<
J

Y

@
DA Nazlr— T
& -8 L=T5m

25t 0T L—vo L—V
EE4E - 20.0m
mEES : 1350kg+100kg=1450kg = 1.45t

AEEDS(1.08x1.10)
SEkHEAH N= 85%%

— K [V SV=1:250
ERYVY—FERRE o=

- 1=21.0

g £ AEIE JIHEE & TR AR E

> 45 1.0 5.5

Fv— K A=7.5x7.5=56.3m"
2.0 15.0 2.0
L=19. Om
ABED5 1.08x1.10
NO. 0 NO. 0+6. 00
T sEei00 S=1:100
\
\ « 2 \\\\
\ e — P | TE TN M | \\ _—— gy — — =W
\ h\ 2000 2000 N \ 2000 2000
¥T \ \ 3000 A\ \\\\ \ 3000
A\ g 2
\\\\\\ ‘ﬁi HEH =100 \\ \ A\ \?« BRH =100
N v91. 400 N \ V1. 400
AN AN Lt \A \ - AV e
NN\ AN
Oy ey
[remunat] + » 2.6
TEAEBEL | + B 3.2
DL=85. 000 DL=85. 000

EP (0+13. 00)

8=1

100

V9300 . DWW=95300 _ _ _ _ _
4000
2000 2000 /
3000 {
BEA t=100 A
l V91. 400
————E (ERE) ﬁj"’"
— — — A (RAE)
IEMEBEL | + B 3.9
DL=85. 000
A-AMRE
$=1:100
7500
BRE t=100 XD
1 Vv 99.70
L |
L] _"_FL'\_ 500
(IR ¢
IR Co -
L1 ‘LT' ©
IEMEREL | £ B 12.5 |
[EEANE
L
DL=90. 000
B-BU &
$=1:100
+ ® 9.6
TEMEBRL
+ ® 10.7
4000
4000
3000
3000
BB t=100
3000
HEA t=100
7.
./
o
7.
4’ N, /0
~ = L ES
—LL4 N
DL=90. 000 =
:, C-CHrmE
ug $=1:100
| sERE |
TEmEBEEL| + B 135 | T3 g |RISL BB S - LgsEs
(H305£29) A1) ¢ E 18 18 T (BREFHEE)
BRaE | BN (BB
V93,10 IHEFH | SFHLSITETLSREEE O F100m00
\\
BE4% | REFEE - REHER
N
N _
LU % R|®@x ‘ HEES 1/
DL=90. 000 S # A
BEES | BERENLLRERRTBEN<SHEE>




